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Challenges to the status quo 1886-1914 : Topic 5 Political Developments 1886-1905

D1 | can identify and explains the reasons for Conservative dominance
1886-1905

D2 I can identify and explain Liberal Weaknesses in this period

D3 I know and understand what they term socialism means

D4 | can provide a range of factors to explain why socialism emerged in this
period

D5 I can identify and describe the aims of the different socialist groups from
the period.

D6 | can explain the reasons for the rise in militiant Unionism from 1880 and
the rise in syndalicalism

D7 I can track and outline the development of the Labour Party in this period

D8 | can exaplin why the Conservatives lost the election in 1906

Challenges to the status quo 1886-1914 : Topic 6 Politics and Social policies 1906-1914

E1l | understand and can explain the policies of New Liberalism

E2 | can describe and evaluate the strengths and weaknesses of Liberal
Refrom 1906-1914

E3 | can describe and evaluate the Consitutional Crisis and Parliamentary
Reform of 1911

E4 | can evlaute the strengths and weaknesses of the Labour Party from
1906-1914

Challenges to the status quo 1886-1914 : Topic 7 Economic Developments

F1 | can analyse the reasons for and the extent of Great Depression and it's
aftermath

F2 | can outline the problems facing British industry and agriculture

F3 I can outline and evaluate the deabtes surrounding Protectionism, tarriff
refrom and free trade

Challenges to the status quo 1886-1914 : Topic 8 Social Change

G1 I am able to evaluate the extent to which the Suffragettes were a threat
to the Liberal Party

G2 | can evaluate the impact of the growth of urban population and the
growth of the service industries

G3 | am able to outline the changes in standard of living

G4 | can evaluate the extent to which the Liberal Party was weakened by
1914
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Challenges to the status quo 1886-1914 : Topic 9 The condition of Ireland and Anglo Irish
relations

H1 | can assess the extent to which Salisbury and the Tories effectivley dealt
with problems in Ireland

H2 | can assess the extent to which the Liberal Party effectivley dealt with
problems in Ireland

H3 | can evalute the extent to which Ireland had been pacified by 1914
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